



Nom: _____

Date: _____ Note: _____

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) =$$



Nom: _____

Date: _____ Note: _____

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} = \frac{5}{18}$$

$$\left(\frac{1}{5}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{4} = \frac{13}{36}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{55}{216}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{8}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} = \frac{32}{45}$$

$$\left(\frac{2}{5}\right)^2 + \frac{2}{5} = \frac{14}{25}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{6} = \frac{11}{48}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{2}{5}\right) = \frac{9}{10}$$

$$\left(\frac{1}{5}\right) + \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{25}{54}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{3} = \frac{2}{75}$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{5}\right) = \frac{1}{30}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) = \frac{7}{36}$$